S 2FE

—ARFEEATFER/(RT Y bR—

—)UiHE 2 0 2 05E:tH

N o 75l ES £ % A H T & 5 &
1|8 48 PUTiREs 48 13H(A)| CBAZEHM

2 |&=E| HINEER - ERSHEHISE 48 22H(K) | AR—VYRZEL> 45—
3 |Bi#| 58 PTRES 58 118(8)| CBAZSHFH

4 || BIEEH/\ AT v MR—ILRSERSE 5 12B(X) | RAR—VYRZEE>H—
5 |Bi| $1i0 BEEs 58 158(®)| AR—WREt> 45—
6 [[Bi| 68 PUTERESR 68 18H(A) C B ASETEPR

7 (B DHR2GFE #HE#E= 6H 16H(N) | AR—VYRZEL>H—
8 | Bt 78 BITHRES 7H 6H(A) C B ASHFR

9 | Ef| 8H MITRE 8H 3H(A) C B AT

10| Bt5| 55200 BE= 88 28H(%)| AR—VRIFtL>H—
11|85 98 $iTiRE 98 7H(R) C B AT
12|81 108 $ITHRES 10A 15H(K) | CBASHBM

13| &&| $2MEFER - BRSHEEESE 10A 21H(K) | RR—VEZEE> 45—
14|mtp| $EEEH/(RT Y MR—-IILBaERESE 10A 28A(K) | AR—-YRIZEL> 45—
15| 8| 118 $UTRES 114 98(A) C B A%

16| Bt 128 $UTHRES 124 3H(XK) C B ASFFR

17| Ri#%3| %30 BEx 128 12H(x) | R—-brISU5BE

18| B "&ER 128 12H(x) | R—-rISTBE
19|81 18 T8 18 148(K)| CBAZEHM

20| B FEERER—VEIH—-RAERE 2H 6H(X) ZR—VYRZEE> 45—
21| B  FERAR—VHESFIARESE 28 138(%)| FEGPRIZa—Fo>5—
22| B3| 2R $UTRES 2R 22H(A)| CBASE®HM

23| Bt 3H ITRES 3H 8H(A) C B AT

24| | #EIEEM/NRT Y MR—IUaERSE 38 12H(®) | AR—VYRIZEE>Z 45—
25|&Z&| E3[ME ERSHEEIERE 38 16H(N) | RR—YRZEE> 45—
26|81 R4l BER 38 19H(®) | RAR—YRFtL>H—




